Comp409 

Homework #2
Due Tuesday, September 24 at the beginning of class. Accepted 1 day late for ½ credit 

#1 - #4 Consider the following NFA 
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#1 (1/2 point) Why is it non-deterministic? (State all reasons you find)

#2 (1/2 point) Convert the NFA to a DFA.
#3 (1/2 point) Minimize your dfa from #2. 

#4 (1/2 points) What is L(M) for all three machines (it should be the same for all three!)

#5 (1/2 points) Give the regular expression that represents. the set of strings over {a, b} that does not contain the substring   aba.
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